EANRAROESIERT —

ZAN—BISH—F

2021558188 (K) 4EIKIR3H

m B2 5% [xwlw | mEmml - |5 @) s g
[AE4£] 17 :450,000 @ ~ 2 3#&:158,000 @ ~ 3 3#&:90,000  ~ 43#&:45,000™ . 5 3&:23,000 ™
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
1Bes| 77z by Uk 75 | A 9. -1 |38 — | 2 (5227) TREX (AR
RYIRT4 TSR B:HXH 73> HE ki
- PIy s ROE— . = . — HEEFE (KR)
olglo|2FALTUR 8D i I V& [xamer
L:vauFeheT B iINkA YR A P S AN
. FE3Z i - — =ZHE&E (KR)
35|55 | HHT ¥ K= A P A ! 15’22) ey
:v07% BAHHILIFTR NYENTT— L
s 4 6 | At 52.3 6-5 36.7| — 3 471 | HRERZ (BER)
41|1|FEEXR 54.0 () Gay | ) EEEER
R:74HO BAINT Y01 s
N o FER . — . — #HEX (KiR)
5 3| 7> ROy it 8 bt 5(21)5 3-3 37.2 4 :1_820) HEE
LY IRG4 TR B:d—IUTFoRT1— BINZT 7 =L
. . > 7 | EAEBTE 52.6 3-4 371 — 5 450 | REEFD (KGR)
6l7l7| /v pE>U— 7] *52.0 ) Cn | xmEE
R:ZRY T b AT r—K—K B/ RbyTTT HET7—L4
S o7 | WABER 52.7 8-8 36.4| — 6 438 | TEE#ZE (BER)
718110/ 71>z b 56.0 (3/4) (o) | FHERE
LNMVTSY BURCZARNIAT v
NS 4 4 HBI%E 53.1 5-7 376 — 8 431 | FREERD_(KGR)
8 4 —TFTAI v — 0 (2 1/2) -2) AR ’
R:FATATv— BiFI15 HEHS
I . t 7 | BEK 53.4 10-10  [36.7| — 10 | 520 |=HF=@ OKR)
9|78 IMRT) =LA * SEG_O (1 3/4) +1) %) 77T>7
RYIRT4 TS5 BI—-Y>TU—% FERS
N 2 MRS . — . — REEE (BE)
1o 2| 717>70- 70 %0 oo | 7T DS lem
LT RIA Y L—> BT/ TAY— FrlEALXT7—L
® 1—F—@EBIERL
13—7-—
20—F—
Jol=5r= (6,9),(3,7),4,1,5,10,2,8
AT =5F= (6,9),3,7,1,5,4,10,2,8
[ N5
B 6 390H 714K 6-9 310 e E 6-8 480 JEE 5-6-9 2,590M
B B 6 170M 5-6 1,070/ B = 6-9 590M EE 6-9-5 9,070
9 150 5-9 1,030 B H 6-9 1,500
5 250M
ABICOVWTRHDTERERRODDE, THERLE,




